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@ x+3x=5x-2x @ 2x+1=2
@)a(x-2) = 4x-3 @ 2 +2=2(x-3)+2

® 3x+4-x=2(x-1)+3

®4(x-2)=4x-8
4x -8 =4x—8
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@ 4x = 3x [A]] © 4x-2x = 2x [HH

© 0.5x + 1.5x = 2x [H] @ 2x=2 [

® x—1=-1[x] @ 3-3x=0[]

@ —2x+1=1-2x[%] © x*-3x=4[4]

@ 3x+1=3x+1[F] ® 4x-1==x+2[3}
> =

@ 4x = 3x : 4x - 3x = 0 (EAPFA o]t}
O4x—2x=2x:4x-2x-2x=0
= 0 =0 (ZAPgA A o] ofr}))
© 05x+15x=2x:05x+15x-2x=0
= 0= 0 (A o] opct)
® 20— 2: (AT olch)
®x-1=-1:x-1+1=0
(x =0 <1 g Aloltt)
® 3-3x=0: (LAFAA] o[t
D -2x+1=1-2x: 2x+1-1+2x=0
= 0 =0 (2pFA 2] o] ofrt.)
© x? - 3x =4 : (A5 M| Ap7F D247 ob )
@ 3x+1=3x+1: (F24°lt})
@ 4x-1=x+2: (FAFE 4t
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3x+2=x+14
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58 A &2 ofHz] 9] 1ol (31 + x - 5) Al, o] 9] o]
(26 +x - 5) A,

gy o] tpo]= (53 4 x - 5) A7t et
(31+x—-5)4(26+x—-5) = (53+x—5)+8
2x+47=x+56, x=9

whabA] 3 -2 of] 2] 2] Lho]= 31 +9 = 40 (Al]) 0] 2L 0] &.9]
o]=26+9 =35 0|22
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